TRIGONOMETRIC PRODUCTS AS SUMS OR DIFFERENCES

Express each of the following as sums or differences:
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TRIGONOMETRIC PRODUCTS AS SUMS OR DIFFERENCES
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TRIGONOMETRIC PRODUCTS AS SUMS OR DIFFERENCES

Express the following as products:
25 cos(x+h)—cosx

24 sin(x+ a) -sinx
28 cos(A+B+C)=cos(A-B+(C)
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TRIGONOMETRIC PRODUCTS AS SUMS OR DIFFERENCES

36 sin(2A + 2B) —sin(2A - 2B) 37 sin165° —sin105°

39 cos75° = cos45° 40 sin50° + cos20° 41 sin(A-B)-sinA
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TRIGONOMETRIC PRODUCTS AS SUMS OR DIFFERENCES

Prove the following results.
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TRIGONOMETRIC PRODUCTS AS SUMS OR DIFFERENCES

Prove the following results.
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TRIGONOMETRIC PRODUCTS AS SUMS OR DIFFERENCES

Prove the following results.
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TRIGONOMETRIC PRODUCTS AS SUMS OR DIFFERENCES

Prove the following results.

65 If a+ f+ y=r, show that sin2a + sin2f+ sin2y =4sina sin B sin y.
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